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OMOISSI 2 010121 AXI(RESAL)
10,000,0009! * 1CH 10,000
ZplescH SN 120,286 141,086 220,800
301 LB A 61,086 54,086 7,000
10 SALAIHI 2 A2 61,086 54,086 7,000
O MOISXIE RIS E4T ofb)
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70,0008 » 10& = 13 700
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O H2NadI2S 2 L5 SAHE &toj)
70,0008 * 22 = 30 4,200
O HIENHAIISS SMuE AFE ZIHof)
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OMBOISXNEXR JI2HE 9,400
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— W= 110,000& = 40 4,400
OMBISXIEX 2tel it S 2,350
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— W =H| 110,000& = 10& 1,100
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— 04 bl 25,0008 * 5% 625
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OXESA 2telA 13 4,700
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— W =H 110,000& = 10& 1,100
Oldud SE+aA Nty 1,743
— 0l 125,000& = 7¢& 875
— W =H] 124,000& = 79& 868
Ossd SE+8 0ty 1,743
— 04l 125,000& = 79¥ 875
— W =H 124,000& = 7¥ 868
OERIZEEsE ol 125,000 = 159 1,875
Odeldaer ol 125,000& = 15% 1,875
OXS=t0EE 0] 125,000& * 20 2,500
O21cM OS2 Aa gt et odt] 125,000& * 20 2,500
OXE S AtEH O1d| 125,000& * 20 2,500
307 QI12+0lH 59,200 87,000 A27,800




A MOISE A
M MilS2s 2dsi(dessdy/dedy)
C|

=2
[«] ) o
SE R LIEE

FAH-FH-SASA) - NRAE - BE=Z A} OH MEE =
. = T ° - [= Bl e (L] O:H{ﬂ,% S o
02 BI2tAAEX 39,200 67,000 A27,800
OMOISZAZAIL 2YXR
5,000,000& * 1JH &+l 5,000
OSSN 2 22344 2YXIL
5,000,000 = 1JHEHA 5,000
OMOIEHH 328 29 X&
2,000,000& * 1JHEHX 2,000
OLSTHIHANY 2ET2
2,000,000& = 13 2,000
O=sMMEAIA Green City =&AL
5,000,000 * 3JHEHA 15,000
OMOtES &Bi0tat00l 2SX& 10,200
—dAE 150,000& * 362l 5,400
— W7 15,000& * 1203 1,800
-2 = 60,000& * 23| 120
—2HAHE 1,000& * 363 * 804H 2,880
04 CIZFSALE X 20,000 20,000 0
OMOtE A&t K&
3,000,000& = 14 3,000
OMOIESXNEXR =izl XI&
5,000,000 = 13l 5,000
OMBISXIEX M=l X&
5,000,000& * 18] 5,000
Ott2AHAIIgelsl =&zl X3
5,000,000& * 12| 5,000
O==sM38Us X& 2,000,000& = 13 2,000
21c MOtS2=2s g4d3H(%) 51,600 63,200 211,600
= 20,000
Al 31,600
307 212t01& 27,600 27,600 0
= 12,800
Al 14,800
02 2ItBAE X 27,600 27,600 0
OHER=ENYES =N 9,600,000& * 14 9,600
& 4,800
Al 4,800
O21C Mots2sSFI2G X (ZFAIMOIS3])
18,000,000& * 14l 18,000
= 8,000
Al 10,000
402 QI2HXHE0IA 24,000 9,600 14,400
= 7,200
Al 16,800
01 B GEEX 24,000 9,600 14,400
O#H=EsE SRS I ALY
2,400,000& * 10902 24,000
= 7,200




SN MOtSS AR

HH: MOISSE SAGHUNDDHE /UBIHE)
Gl RISESCHH A (cre:me)
) _ Hug
2N - FHH..2A(SH) - HIEAMY - BHAS (] AFoH ioﬂ/ix_FOH Hlw=2
HHl A 16,800
THEH B2 (BASS/T) 55,140 51,820 3.320
TosH A 55,140 51,820 3.320
NoEs 2=x 2 31,440 28,120 3,320
201 P2 o 21,500 20,000 1,500
01 Al Z2lh| 3.500 3,500 0
OXIBE M| SEHE 402 * 50,0000 2,000
OXoIEs o sHara A 1,500
_s9FG 502 * 3% * 2,0000H 300
— B O R 60,0002 * 58 * 43| 1,200
02 Zzegy 18.000 16,500 1,500
OXGILEA SHRA(RRIRN)
35,0002 * 60 * 8 16,800
OXSIeEA 5184 ST 22
20,0002 * 60S 1,200
301 LBrPAD 9,940 8.120 1,820
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